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PROPERTIES OF THE GRAPH OF A QUADRATIC

A- (5 L Q,l{ fe-“ V\UM',Q{S

) mﬁm" .
EULH . OF N QF. The graph ofr— ax? + bx + CIIS a parabola that: Why canlt

7+ opens _UP lfa>0andopens C.lo!!! “ifa<0. o F1 7

Yoo Aakrﬁv\(’ . is-narrower-than the graph-of y= 4{2—|LLaJ_£—1—5’= L ble i+ waotd

%c shepe and-wider-if|a I—é:t’{‘;r )
S

W A - has an axis of symmetry of

= %

= '-b OPPOV"“.‘ b
/ l dividet by tA

« has'a vertex with an
T i

x-coordinate of ~ VZA'..

« has a y-intercept of (..
So, the point (4 , L) is
on the parabola.

ve o lhec
Fa.




‘Your Notes @ETICER Graphy = ax® + bx + ¢
Graph y = —x2 + 4x — 1.
Step 1 Determine whether the parabola opens up
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To find the y-coordinate, substitute 2 for x in the
function and simplify.
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Step 5 Draw a Greble through the plotted points.
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1. Find the axis of symmetry, vertex, and the y-intercept for
the function y=—4x2+8x—-9 A= -y B=¢ = -9
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2. Find the axis of symmetry, vertex, and the y-intercept for the
function: y=— 2x2—x A= —2 - c= O
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3. Graph y=-2x2+4x+1 e
Create a table, label A.S., Vertex, and y-intercept.
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